oL ’/9B4 ?9=4 —=(4B1BJ29

:4:48 /981329 DR ,UL8UMQ2RISI 1U #0)5B $9B) B1U 29RUSQT 81R 19690 *1BQ4X5B W_LW MQ2R9 1 LIOQUP

#R DRU 809 =P [XR?149 ; 81R *1BQ4X5B 9QR5BIDIU RO LISW KB19 _ 1U9Q4QX5B°P

#VGOE $=EV E6[ B=W[=VL 6K JOWOEE6N
<6W L="= =)=V (6EVB~IE B=d=GB[T ""=V
6=J=V /[6<[QUTW6<=L[ ~AL< 2NWWe[d=L<=
<=\ CYBES[W6WIENI=N O] 6L <=V IF
B68=TeP] =VW[IK6WI=J8=V 63 75NV 6°F
B=? EV[T #V E6[ =0L=L =G[V6B 8=V <6l
PIOF7EVEB= =W[=E=L <=V (=l=VW==F
J9EG6EV[IF%=I=INOEG[ R /%S *=VF
I C#V E6[ GEL atVIJ9E W=J8=V B=F
WOEVE=8=LD; W6B[= **6V=1[SNLWGINEH[=L]
AL<J=6[=L<=V . =<6 1[NV <=l (BEVB"9E=I;
- =[N*6L<=BB=V: K6[ =6L=K [™B=LdabLF
91=VLT $=EV O ~V7We<=L[ <=W /%F2=VF
a6I[~LBIVB[IT
*K +G[[=IQAL I WNJ[=L 8=6 <=V -V7F
W=L[B[ENL <= L="=L ~9E=W 68=V 6LF
<=V= W[=E=LT %J=69E <V=6 +G[Bli=<=V <=
L=AL10Q%B=L LVBEG[WB IWOEAMN=H <=W
(BEV8"9E=WIEL< *=V68WIES=<=[ aNV<=L
> 6= K_Wi=L 6EV [K] L69E da0)? (6EV=L
L6=<=VJ=B=LT "'6= [KWd=0[8=WIEV7LF
IALB afV< “NL <=L .=B=JL <=V W[7<[(F
WOE=L INKKGIENL “NVB=B=8=LT +6VF
BVG[ 3691F3=V<=VAL< ¥ cL[EG6 "*ALLELB
OEG=I[=0L bL< KE[ JK=L AL< &6LIF
VA=< " ABI=V KG[ 3=6L 8=II9E=LI[ aNVF
<=LT C3V EN??=L; 6°9E 6L 5~ IALY[ 67
=/\9E 63 [NV=L d~V_91BV=?=L d 10LF
L=LD; W6B[= $=EV d" <=L <V=6 [B[V=[=LF
<=LT "*6= ,69E?NIB=V aNli[= =V LNOE
L6OE[ 8=I6LL[ B=8=L; C<=V E="[tB=
[B3L< B=EOV[ K=L=L; <t= dV_9I[V=[=L
K_IW=LD; W6B[= =T

#*:7* $85 )*O 1-7%4$784-157-787
"6l L="= (6EVS"9E d7EJ[ JMP /=0[=L
AL< =L[E7J[ DYM=) “NL A\ ZXNV=LT
""V=6 /9E@=VQAL I [= IEL< 6~ WA K 69E=L:
._918J91= 627 <t= 5=G[ *NL &"8=V[
)INQ?=LW[=6L AL< ~G=\V=F4“ =} +N=\OEF
J2VOK  G=J=V %=K=6L<=V6[; <6= #EV=LF
8 VB=VI9E6?[ “NIK J6LBH7EVEB=L _NJ=bF
—6[VNL &BWe NV=V AL< <G= #bQNIe];
<t=]eP] d=EL (6EV=d"V_91B=)=B=LES6[;
W[=E=L 6K SN 1T

57<=K abV[=[ <6l (EVB™IE JeP] KG[
L=V -V=KE=V= 677 #VI[K6I arV<=
=6L= 5MIBK K=L6V8=6[ KG[ <=K *G[=V6F
[AVGLW[G[~[ =5LB=B6LB=LT /9E_J=VeLL=L
AL< /9E_J=V <=l *LU[S[~[W E68=L O=b[=
=6LV=69E=L 10LL=L;=6L= ("a6E] <6*NL
ON[ LAL 6K 0=6) C CIB=K=6L= =6[V7B=D
68B=<V91[ aNV<=LTC’9E EN?’=; <6llll atV
<6=l= 5MIBK K=L6V8=6[ 6K INKK=L<=L

"T$)724%5-)*17 [&, *,4 HW89H 19X91 1969] *1BQ4X5B W_LWP [Xd89H 1KZ9(6 $9BQ 490 89 /9Q0BX 1? 890 #BQ914Y(?9(R5B1U

11 +KEONC*1UQK T &10Q]  KQO@

"/C :4;48°/981J29

[34:6 @>D1 9RSBAIU 8IR 1969] *1B(C
AX5B E2B(R5BP
CT1R *1B4X5B 08 ZKH [TBNRIXRC
RSBXRR 09590 *1BQ4X5B BIQLIXR?9C
29491 X18 ZK1 89) _4 $/CC</== []
2980X5FUP
CF1R *1B4X5B 9QRSBONIURIN = *1BC
091 KBI9 . 1U904QX5B ; 819 [XH?149
W_LW IRU 819 =L? DIRP9RLHUP
709 19XRU9 [XR?149 B1U 1>Q +4:64=}
C7H [IGPB4= B1491 <Y( 81R "1B)4X5B
W_LW ?9R5B()949 1P
CAQB2WSB RU 81R  X5B D1 891

09590 X5BBLI8EX1291 X18 8)9F!
49H /90617 O %1RRH11 1 [%]
N-969<K1 VW V>> =L LL(P ®?

(6EV NV[Ii=[d=L 10LL=LD; W6B[= *CL<F
=BB=\T

"6l G=)=V (BEVSNIE GW[ W=[ PMY]
NEL= 1L[=V8VAIE H7EVI9E =W9E=L=L;
W=6[ @e (BEV=L 6JNT 36LL <6ll (6EVF
8OE #=a=6l =VWOE=GL[; GW[ 68=V “NL
(BEV d~ (6EV ~L[=VWOEG=<J9ET #6L=L
%b=L 2=V0=L[JOEALBIW[=VIKGEL BS8[ =W
LEOE[T # E7LB[ <6°NL 68; at= “NV6~IF
WOEGA=L < <6= 2=VBL [aNV[J9E=L QI6L=L
AL< “NV6JI=K <6*NL; N8 <6= [NV=L <6=
[BE68="VGN[=L =GLE6J[=L 10LL=LT "6l
(6EVB™IE JeeM =[ab OI[ =VW[ 6K ,NF
“=K8=V JePe QVTI=L[=V[ aNV<=L; <G=
[7UB68= ]ePe a’V<= EGLB=B=L 8=V=G[li
[L?6LB QW) JePP “NVB=W[=JJ[ > =6L .=F
INV<T $=EV IN8[ <t= [VBEG[ “NL *GL<=BF
B=V: C=V E7J[ <6= $7<=L d"WBKK=LD; ~L<
BG8[ <6= 2NVB68=; <6l <6l ~9E 67IE
1_L?[6B 6KK=V 6K =Vil[=L &BIBHEEV =VF

~11E1 )1189)

WOE=6L=L K_WW=T *GL<=BB=V QWOE[=[
SEK 8=5; W=6L 56=) W=6 =6B=L[J9E; <6
(6EV8/IE 8=V=6[W 6K QWL QU7W=L[6=V=L
d~ 10LL=LT

/T6<[QU7IE<=L[ $=EV a6V W[NJd; B=W[=VL
=6L=L QUNIGL=L[=L %6W[ ~L< +G[6~ [NV
<=W (BEVB™IE=W 6L <=V "9E*=VLN6B=
8=BV_WI=L d~ 10LL=LT _N)? INOE a6V
daBligE=L PMXe ~L< PMMX *=5[=V <=If $6IKGF
B=LAL[=VL=EK =Ll TENONJG[ 16IK5=

IN9E AL< “NL PMM] 8% Jeee —Vli<=L[
<=W /9Ea=td=VHOE=L "W6=J[BNOE=L %=F
K=6L<=8AL<I IN9E E6[ <=L , 69EVA?
8=V 26[6] #Q=186"K; <=L =)=V I6LNF
AL[2VL=EK=V; <=V 6K +7Vd JeP] “=WI[NVF
8=L GN[; ?_ V<6l (GEVBAIE “=V26IN[T  (R?

1-1.( OO OR/*4T$+&I$TTY",
JO $0YB909 9Q5BU9 HIU 89H , X5BC
49201< @ 19690 *1BQ4X5BA



